[image: image1.emf] PBS  2×10 5   tDC  1 ×10 6   tDC  2×10 6   tDC  N aïve  Total  

Experimental set 1  N = 5  N = 5  N = 5  N = 5  N = 1  N = 21  

Experimental set  2  N = 5  N = 5  N = 5  N = 5  N = 1  N = 21  

Experimental set  3  N = 5  N = 5  N = 5  N = 5  N = 1  N = 21  

Experimental set  4  N = 5  N = 5  N = 5  N = 5  N = 1  N = 21  

Experimental set  5  N = 5  N = 5  N = 5  N = 5  N = 1  N = 21  

Experimental set  6  N = 5  N = 5  N = 5  N = 5  N = 1  N = 21  

Total  N = 30  N = 30  N = 30  N = 30  N = 6  N = 126  

 

Table 1. Supporting chart for Figure 3.
For each experimental set, 2 independent batches of tDCs were generated.
Table 2. Supporting chart for Figure 4.
For each experimental set, 2 independent batches of tDCs were generated.[image: image2.emf] PBS  2×10 5   tDC  1 ×10 6   tDC  2×10 6   tDC  Total  Flow  cytometry  ELISA  qRT - PCR  

Experimental set 1  N = 5  N = 5  N = 5  N = 5  N = 20  Y  Y  Y  

Experimental set  2  N = 5  N = 5  N = 5  N = 5  N = 20  Y  Y  Y  

Experimental set  3  N = 5  N = 5  N = 5  N = 5  N = 20  Y  Y  Y  

Experimental set  4  N = 5  N = 5  N = 5  N = 5  N = 20  Y  Y  Y  

Experimental set  5  N = 5  N = 5  N = 5  N = 5  N = 20  Y  Y  Y  

Experimental set  6  N = 5  N = 5  N = 5  N = 5  N = 20  Y  Y  Y  

Total  N = 30  N = 30  N = 30  N = 30  N = 120     

 


Table 3. Supporting chart for Figure 5.
For each experimental set, 2 independent batches of tDCs were generated.[image: image3.emf] PBS  Un - tDC  Myo - tDC  CII - tDC  Total  Flow  cytometry  ELISA  qRT - PCR  

Experimental set 1  N = 5  N = 5  N = 5  N = 5  N = 20  Y  Y  Y  

Experimental set  2  N = 5  N = 5  N = 5  N = 5  N = 20  Y  Y  Y  

Total  N =  10  N =  10  N =  10  N =  10  N =  4 0     

 


